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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not compulsory. All

other questions carry 12 marks each.
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Narrate the following in relation to Project Stages : (any three) 4 marks each

a) Feasibility study of the project
b) Project Planning

c) Call for tender

d) Award of Contract
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Evaluate risk factors under CAR Insurance Policy for any three of the following 4 marks each
civil engineering works-

a) High Rise / Tall buildings

b) Tunnels

) Road Construction

d) Bridge Construction
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Q.3. Analyse the following standard endorsement wordings applicable for 4 marks each
CAR/EAR policy: any three
a) Cross Liability Cover
b) Escalation
c) AirFreight
d) Safety Measures.
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Q.4. a)  Whatare the special features of the Comprehensive Project Insurance (CPI) 4 marks each

cover (developed by Munich Re) & name the different sections under it.

b)  Name the special insurance covers that can be endorsed on the CPI policy
other than SRCC.

¢)  Describe the scope of third party liability cover under the CPI cover. Explain the
importance of cross liability principle.
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Q.5. How isthe Sum Insured determined under machinery insurance policy ? 12 Marks

What are the important rating factors that an under writer takes into account for

machinery insurance cover.
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Write short-notes on : any three 4 marks each
a) Deterioration of stocks (Potatoes) in cold storage insurance policy

b) Chemical explosion & Physical explosion.

c) Extended Defective conditions exclusion-DE?2.

d) The effects of detariffing of engineering insurance in India
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Write notes on Any Two 6 marks each
a)  Machinery Leasing Insurance.
b)  Agro Engine Breakdown Insurance

¢)  Construction Annual Policies.
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Answer any three 4 marks each
a)  Whatis ALOP Insurance?

b)  Who can avail ALOP Insurance Cover? Give reasons.
¢)  How would you market this Insurance Cover (ALOP) to a prospective client
who is putting up a large size power project?

d) Howis the Sum Insured arrived at for ALOP Cover?
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Q.9. “AKey element in formulating an optimal re-insurance programme for the insurer is to 12 Marks
decide how much it wishes to retain for its own account of risk it has written”. Discuss

the factors that generally determine the Retentions.
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Q.10.“Process of Risk Management play an important role in smooth business operation”. 16 Marks

Discuss the statement in relation to various techniques of Risk Management.
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